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10.

Jane plans to travel from Amsterdam to Chicago. She changes 1500 Euros (EUR)
to US Dollars (USD) at an exchange rate of 1 EUR to 1.33 USD. Give all answers in
this question correct to two decimal places.

(a) Calculate the number of USD Jane receives.

Jane spends 1350 USD and then decides to convert the remainder back to EUR at a
rate of 1 EUR to 1.38 USD.

(b) Calculate the amount of EUR Jane receives.

If Jane had waited until she returned to Amsterdam she could have changed her USD
at arate of 1 EUR to 1.36 USD but the bank would have charged 0.8 % commission.

(c) Calculate the amount of EUR Jane gained or lost by changing her money in
Chicago.

[1 mark]

[3 marks]

[2 marks]
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12. A quadratic function f:x+>ax’+b. where a and b R and x20. is represented by the

‘mapping diagram.
f
r— > ()
(2) Using the mapping diagram, write down two cquations in terms of a and b. 12i}

(b)  Solve the equations to find the value of
@ a

(i) b. 2]

(¢) Find the value of c. 12i}
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10000 people attended a sports match. Let x be the number of adults attending the
sports match and y be the number of children attending the sports match.

(a)  Write down an equation in x and y.

The cost of an adult ticket was 12 Australian dollars (AUD). The cost of a child ticket
was 5 Australian dollars (AUD).

(b)  Find the total cost for a family of 2 adults and 3 children.
The total cost of tickets sold for the sports match was 108 800 AUD.
(c)  Write down a second equation in x and y.

(d)  Write down the value of x and the value of y.

[1 mark]

[2 marks]

[1 mark]

[2 marks]




image3.png
Working:

Answers:
@ .
® .
@© .
(O





image4.png
The equation of a line L is 2x+5y=—4.

(a)  Write down the gradient of the line L, . [1 mark]
A second line Z, is perpendicular to L .

(b)  Write down the gradient of L,. [1 mark]
The point (5,3) ison L,.

(c) Determine the equation of L,. [2 marks]
Lines L, and L, intersect at point P.

(d)  Using your graphic display calculator or otherwise, find the coordinates of P. [2 marks]
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